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QUESTION 1

Refer to the exhibits. Exhibit 1 

Exhibit 2 

A network administrator deploys role-based tunneled node in a corporate network to unify the security policies
enforcement. When users authenticate with 802.1X, ClearPass shows Accept results, and sends the HPE-User-Role
attribute as expected. However, the switch always applies the denyall role. 

Why does the switch fail to allocate the tunnel-employee role? 

A. Denyall is a secondary role contained within tunnel-employee. 

B. The switch is not configured with primary tunneled-node user role. 

C. The switch is not configured with secondary tunneled-node user role. 

D. RADIUS Access Accept messages time out in the switch. 

Correct Answer: B 
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QUESTION 2

Refer to the exhibits. 

Exhibit 1 

Exhibit 2 
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A network administrator deploys a test environment with two Mobility Masters (MMs), two two-member Mobility
Controller (MC) clusters, and two CAPs, with the intention of testing several ArubaOS features, Cluster members run
VRRP for AP boot redundancy. Based on the information shown in the exhibits, what is the current status of the APs? 

A. APs are currently communicating with LMS IP, and 10.1.140.100 is S-AAC. 

B. APs are currently communicating with BLMS IP, and 10.1.140.101 is A-AAC. 

C. APs are currently communicating with BLMS IP, and 10.1.140.101 is S-AAC. 

D. APs are currently communicating with BLMS IP, and 10.1.140.100 is A-AAC. 

Correct Answer: B 

 

QUESTION 3

A network administrator wants to receive a major alarm every time a controller or an Aruba switch goes down for either
a local or an upstream device failure. Which alarm definition must the network administrator create to accomplish this? 
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A. Option A 

B. Option B 

C. Option C 

Correct Answer: B 

 

 

QUESTION 4

Refer to the exhibit. 

Help desk staff receive reports from users that there is inefficient wireless service in a location serviced by AP20, AP21,
and AP22, and open a ticket. A few hours later, the users report that there is a drastic improvement in service. The staff
still wants to determine the cause of the problem so the next day thay start monitoring the tasks. 

They access the Mobility Master (MM), and obtain the output shown in the exhibit. 

Latest HPE6-A48 Dumps | HPE6-A48 VCE Dumps | HPE6-A48 Practice Test                                6 / 9

https://www.geekcert.com/hpe6-a48.html
https://www.geekcert.com/hpe6-a48.html
https://www.geekcert.com/hpe6-a48.html


https://www.geekcert.com/hpe6-a48.html
2024 Latest geekcert HPE6-A48 PDF and VCE dumps Download

What could be the cause of the problem that the users reported? 

A. AirMatch was running an initial incremental optimization. 

B. An operator used AirMatch to manually freeze AP channel and power. 

C. An operator manually assigned settings in the radio profile. 

D. AirMatch was running a full on-demand optimization. 

Correct Answer: B 

 

QUESTION 5

Refer to the exhibit. 
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A network administrator deploys a new WLAN named Corp-Network. The security suite is WPA2 with 802.1X. A new
ClearPass server is used as the authentication server. Connection attempts to this WLAN are rejected, and no trace of
the attempt is seen in the ClearPass Policy Manager Access Tracker. However, the network administrator is able to see
the logs shown in the exhibit. 

What must the network administrator do to solve the problem? 

A. Add the correct network device IP address in ClearPass. 

B. Change the ClearPass server IP address in the MC. 

C. Fix the RADIUS shared secret in the MC. 

D. Disable machine authentication in the MC and client PC. 

Correct Answer: D 
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